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per annum. How much money
Jl1o will Ajay pay annually?
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h,,, 2",, q _Ajay took Rs 6@ from his
frlend Vijay and !omised to pay
0 @ @ @ in 4  equal annual
( mstallments with a rate
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A moneylender gave Rs.2800 to one of his
client. His client decided to pay the money

back in five equal annual installments. What
| ,O amount will the moneylender receive from

his client if the rate of interest is 10%p.a.
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The annual payment that will discharge a debt

of Rs.47250 due in 3 years at the rate of 5%
per annum simple interest is:

a8 "raar fred & Ufr s 5% 9fq a¥
N TROT AT AT X F 3 AT A
47250 9% & HUT &T g SN,

a)8000 ¢ 10000 -sf15000 d) none
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|9200 17 7 A computer is sold either for| Rs. 19,200)
- '430 0 —H“"W’ dx.y—xmo cash or for Rs.4800 cash down payment

luYyo o 5,,¢ Zq) together with five equal

installments. If the rate of interest charged

50400 . QOJ 296 Y -— I’l- is 12% per annum, then the amount of
_T:l—_ loo <« each installment (nearest to a rupee) is
o] % P w doger # F 19,200 F@E F QT
102 m34800$m‘§7ram3?merqm
102 A AfdF fheal & @1y <91 Sar
1 0Y 3 IR sarer Y & 12% Wiy ¥ &, @
& feea 1 I (v T &
S\o o) &
a) Rs. 2880 \_H/RS. 2965
¢) Rs.3016 d) Rs.2896
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An article is available for Rs. 2500
- 1420 X |5 M8 9
2500-520 X, X cash for Rs. SZO%down

,__,_q_g_/]‘.?: payments followed by 4 equal
monthly instaliments. If the rate of
interest is 25% per annum,

MCulate tlg—_r;onthly installment?
| _Iy ! UH & 2500 T 9G H AT
“g UR 12Y R 520 ¥ g 3k IRy suw
Uq T & 25% aiffw & ar AfRAw
50 . AT HY7?
S| U afRs.520 b)Rs.480
19 & 12 ¢)Rs.576 d)Rs.500
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A person deposited certain money at
the starting of each year, if rate of

simple interest isz13% 'per annum. At
the end of 3rd year, the total amount is
Rs.24948. Then find how much money
he deposited each year.

TF Ifdd @S a¥ & HFH TH
AfRaa yaufr FART war &, I
AROT s Y &T 13% NS g,
a3 a¥ & AT A FA YAURN
249483%|maam;rﬁra€rsm1

a) Rs. 6400 ud{ Rs.6600
c) Rs.6200 d) Rs.7458
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A sum ofis lent with simple interest
to be paid back in 11 monthly installments
of Re 1 each. The rate if interest is:

(10 TA)&r TfA ATYRT sAT AT T F
11 #fas fhedl & 3T & & A
3UR & =l @] Y sarer AT & T
a) 55% b) 20%

c).55% d]21.82%
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0 ) Tawo° 9 60 The market price of refrigerator is

8000 (000 (000 Rs.10000. Iﬁis available on a cash

' do ayment of Rs.2000 and 9

g m installment of Rs.1000
2 Inr gxpa each. Find the rate of installment.
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A mobile can be purchased on cash
payment of Rs.1500. But the same
mobile can also be purchased on the cash
down payment of Rs. 350 and rest can be
paid in three _equal monthly installments
of Rs.400 for next three months. Find
the rate of simple interest?

TF AEST § 1500 o #H @er a1
AHdT & HYar I ANET § 350 H
IR ordeT & AT 9T AE T 400
N AT wwEw fFEal & @ler S
THhdl §| TYROT sATST A T F;T
greit?
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a)33§% b) 212 %
0)262% w{zeg%
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(6000x% QoooxY Giri borrowed Rs.16000 from PNB at
5 L simple rate of interest. After 3 years he
6000 Tovo 12570 paid Rs.7000 and at the end of 7 years
Xﬁx )(2'/- he paid Rs.12570 to repay the loan.
U O What is the rate of interest charged by the
14570 ? & O
2670 bank? /P

—l600 0
——r=— ,8Y00JIR & WIURVT A $I eT W Hivafdl
| 7 =70 T 16000 TIT 3UR fow] 3 AT &
3570 = 247 x ag 3@ 7,000 T FSIEE
‘1}6& frar 3k 7 @ & 3@ A Il wmOr
Yasel7=p ge@ & fav 12570 T FT spErae
Y foan d% @@mr fav av sAe A7 W

T 87

\3/4.25% b)5% ¢)3.75% d)4.5%
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Ankit borrowed Rs. 15000 from bank
and returned Rs.6500 after 6 years.
After 10 vyears from starting he
returned Rs.13460 and settle his
account. What was the rate of
interest? e P

U260 (imf) IHRFA 15000 ¥ FURTT S T

l2Yopo 14960
o R/ —5000
uade

=_124%ex R

d% & 3R Aar 8| 6 H TG
6500 & ThT T &| YT 7 10
|l &1 13460 ¥ SHT Fol A
HFT & T §| SATST T AT F?
4%  b)3%
c)4.5% d)5%
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fOOOO%Z 100 O)é}}io\%;' A man borrowed a sum of Rs. 10000 from bank
10000 200'0 t 2500'[ §720 at S.l. After 2 years he paid Rs.3000 and at the
22, ey 22y, end of 5th year he paid Rs.2500 and at the end
. of 7th year, he_paid Rs.6720 and clear all his
(_f_’_°_9°° o R.y. dues. Find the @t_e"of simple interest per annum.
@ TH gfFd dF ¥ 10000 § Y TH gAUMNA
2229 - Sogx R M. Frar St o 3uR & ¥ 2 A & aw
q§ 3000 T HT A FIaT ¢ AR g a¥
2521 3 & 3 A I 2500 ¥ FT AT FIT § 3N
?_—X—';S = K= UMy 7 of & s # 78 6720 ¥ HT IICA BT
t 3 3r9em ERT ST gATT & &dT 2

TT?

c) 5% d)3§%
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An amount of Rs. 12,000 was borrowed at simple
interest, at some interest rate. After four months,
Rs. 6,000 more was added to it and the rate of

interest on the total principal was doubled against
the previous rate. At the end of the yea
was paid as interest, calculate th te of interest
initially charged? £/ p.a @

¥ 12,000 Fr TR ATYROT sqT&T, 9 famell sa=r
W W 3YR off M| IR AN F 91€, SUA T
6,000 3R S IT IR Fa FAUT W A
N T A Nod T & mﬁ a"m?n wX fear

IGT| T F AT H, W%Wﬁxzsoom
AT FHAT I, GRS A WS AS AT o

$T AT FL?
a) 14% b) 16% c) 12% Ur{m%
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A took loan from B of Rs.960 at 6% on a
I 2 5 ll condition that he would pay it in 4 vyearly
O|60 2uo 2‘40 240 mstalments Out of which first 3 instalments
L\ » 29 Ry, 1mg_veuld beof the principal and rest amount
would be paid in last instalment. Find the

amount paid by A in the last instalment.
OI6¢x|z‘1 Tt AT 960 T F B F 6% W T Id W
a}s‘ ‘Q"W”‘ﬁ-@azurﬁmﬁsagsﬁzt ai¥e fFed &
g O @ ugell 3 fFea Fgeaua
1/4 gef 3T Ty 1 TRY P spIE it

frEd A Far S|

Rs.384 b) Rs.344 c) Rs.424 d) Rs.464
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A sonata watch is sold foaslfor Rs._%gp
cash down payment together with Rs.244 to be
paid after one month. Find the rate of interest
charged in the installment scheme:

T direr g3t @ligad & faw ar ar 440
U UFeT 4 Isd & A1 Y 244 &1 3AF
I FH Th AP a6 244 T A
Ysd & 39 AT & TR AT H &

qdre?
a)10%  b)15% \,o/ZO% ‘
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